1 pd.to_datetime('2021-01-02') + pd.tseries.offsets.MonthBegin(-1)

Timestamp('2021-01-01 00:00:00')

%%backtest
# from datetime import datetime

start = '2012-01-01'

end = '2015-02-28"

universe = StockUniverse('ZZ800")

# 300 B LBAIRYNES TR HEA, Fatirii300 RREAM, HERBHEARTLYE EBRENEER R,

# HIF500: HIEEARTFSIERFF30055H R R ST EASFB00 SR EE, &EAFSZEHN500SKREHS, FERBHBEARHHH—HE AN TEL IR ENE
E=2//8

9 # U800 : HIIIBO0FEHH HiF500 AIFFR300I5H LA R, LREREHIEARTIHA PN TEL STEIREZMEZI.

10 benchmark = "HS300'

O~NOUVI A WN R

11 freq = 'd'

12 refresh_rate = Monthly(-1)

13

14 accounts = {

15 'stock_account': AccountConfig(account_type='security', capital_base=1e6)

16 }

17

18

19 def initialize(context):

20 pass

721l

22

23 def handle_data(context):

24 current_universe = context.get_universe(asset_type='stock',exclude_halt=True)

25 today = context.current_date

26 # print(today)

27 if today.strftime('%d') == '01':

28 prev_month_begin = today + pd.tseries.offsets.MonthBegin(-1)

29 else:

30 prev_month_begin = today + pd.tseries.offsets.MonthBegin(-2)

31 # print('prev_month_begin:', prev_month_begin)

32 try:

33 factor_exposure = get_data_cube(symbol=current_universe,

34 field=['d6dk9218qq.size2024"', 'd6dk9218qq.rev2024"','d6dk9218qq.bm2024",
35 'd6dk9218qq.1i11iq2024"', 'd6dk9218qq.ivol2024'],
36 start=prev_month_begin, end=today,

37 style='ast').to_frame().reset_index()

38 except AttributeError:

39 factor_exposure = pd.DataFrame()

40 # print(factor_exposure)

41 if factor_exposure.shape[0] == 0:

42 pass

43 else:

44 factor_exposure. rename(columns={'major': 'date', 'minor':'sec_id',

45 'd6dk9218qq.size2024': 'size",

46 'd6dk9218qq.bm2024": 'bm',

47 'd6dk9218qq. rev2024': 'rev',

48 'd6dk9218qq.il11iq2024': 'illiq",

49 'd6dk9218qq. ivol2024': 'ivol'}, inplace=True)

50 # print(factor_exposure)

51 # print(factor_exposure['date'].unique()[-1])

52 factor_exposure = factor_exposure[factor_exposure['date'] == factor_exposure['date’].unique() [=1]]
53 ### Intersection #i####

54 stocks_set = {}

55 # stocks_set['rev'] = set(factor_exposure.sort_values('rev', ascending=True)['sec_id']J.iloc[0:200].tolist())
56 stocks_set['size'] = set(factor_exposure.sort_values('size', ascending=True)['sec_id']l.iloc[0:200].tolist())
57 # stocks_set['illiq'] = set(factor_exposure.sort_values('illiq', ascending=False)['sec_id'].iloc[0:200].tolist())
58 # stocks_set['ivol'] = set(factor_exposure.sort_values('ivol', ascending=True)['sec_id"'].iloc[0:200].tolist())
59 # stocks_set['bm'] = set(factor_exposure.sort_values('bm', ascending=False)['sec_id'].iloc[0:200].tolist())
60 buy_list = set.intersection(

61 # stocks_set['rev'],

62 stocks_set['size'],

63 # stocks_set['illiq'],

64 # stocks_set['ivol'],

65 # stocks_set['bm']

66 )

67 buy_list = list(buy_list)

68 #i#4##HE Scoring ##H###

69 # factor_exposure['rev_rank'] = factor_exposure['rev'].rank()

70 # factor_exposure['size_rank'] = factor_exposure['size'].rank()

71 # factor_exposure['illiq_rank'] = factor_exposure['illiq'].rank(ascending=False)

72 # factor_exposure['ivol_rank'] = factor_exposure['ivol'].rank()

73 # factor_exposure['bm_rank'] = factor_exposure['bm'].rank(ascending=False)

74 # factor_exposure['rank_sum'] = factor_exposure['illiq_rank"']

75 # factor_exposure['rev_rank'] + |

76 # factor_exposure['ivol_rank"']

77 # factor_exposure['size_rank'] + |

78 # factor_exposure['bm_rank']

79 # factor_exposure.sort_values('rank_sum', inplace=True)

80 # factor_exposure.reset_index(drop=True,inplace=True)

81 # print(factor_exposure)

82 # nstocks = factor_exposure.shape[0]

83 # buy_list = list(factor_exposure['sec_id"'].iloc[0:20])

84

85 stock_account = context.get_account('stock_account")

86 current_positions = stock_account.get_positions(exclude_halt=True)

87

88 for stock in current_positions:

89 if stock not in buy_Tlist:

90 <taock account order tol(stock 0)



[17]:

[18]:

91

93
94

96

pass

else:

for stock in buy_list:
stock_account.order_pct_to(stock, 1/len(buy_list))
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